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void reverseList(DoublylLinkedList* list,
DoublyNode* hNext,
DoublyNode* tPrev)

{

if (hNext == tPrev) return;

if (hNext->next == tPrev)

{
list->add(hNext, tPrev->elem, tPrev->score);
list->remove(tPrev);
return;

}

else

{
list->add(hNext, tPrev->elem, tPrev->score);
tPrev = tPrev->prev;
list->remove(tPrev-s>next);

list->add(..... , hNext->elem, hNext->score);
hNext = hNext->next;
list->remove(hNext->prev);

reverseList(list, hNext, ..... )s
}
}
void main()
{
DoublylLinkedList* list = new

DoublyLinkedList();
list->insertOrdered("Paul”, 720);
list->insertOrdered("Rose”, 590);
list->insertOrdered(“Anna", 660);
list->insertOrdered("Mike", 1105);
list->insertOrdered("Rob", 750);
list->insertOrdered("Jack", 510);
list->insertOrdered("Jill", 740);

cout << "Reversed List :" << endl;

reverselList(list,
list->header->next,
list->trailer->prev);

list->printH2T();
}

1. Which of the following choises is the code of the .....
lines of the function reverseList() that reverses the

elements of a doubly linked list? (30P)
You'll loose 5P from wrong answer.

(A) tPrev->next
tPrev->prev

(B) tPrev
tPrev->next

(C) tPrev->next
tPrev

(D) tPrev
tPrev->prev

(E) tPrev->prev
tPrev



void LinkedBinaryTree::traverse(Node* p)

{
while (root != NULL)

while ((p->left != NULL) || (p-»>right !'= NULL))

if (p->left != NULL)
p = p->left;
else
p = p->right;
}

cout << p->elt << endl;
deleteNode(root, p->elt);

p = root;
}
}
void main() // Output >
{

LinkedBinaryTree binaryTree;

binaryTree.addRoot();

binaryTree.root->elt = 8;
binaryTree.addBelowRoot (binaryTree.root, 4);
binaryTree.addBelowRoot (binaryTree.root, 12);
binaryTree.addBelowRoot (binaryTree.root, 2);
binaryTree.addBelowRoot (binaryTree.root, 6);
binaryTree.addBelowRoot(binaryTree.root, 10);
binaryTree.addBelowRoot(binaryTree.root, 14);
binaryTree.addBelowRoot (binaryTree.root, 1);
binaryTree.addBelowRoot (binaryTree.root, 3);
binaryTree.addBelowRoot (binaryTree.root, 5);
binaryTree.addBelowRoot (binaryTree.root, 7);
binaryTree.addBelowRoot (binaryTree.root, 9);
binaryTree.addBelowRoot (binaryTree.root, 11);
binaryTree.addBelowRoot (binaryTree.root, 13);
binaryTree.addBelowRoot (binaryTree.root, 15);

binaryTree.traverse(binaryTree.root);

2, a) What is the output of the program above? (20P)
b) Which tree traversal method is the output of the
program equivalent to? (15P)

You'll loose 5P from wrong answer.

(A) inorder

(B) preorder

(C) postorder

3. Delete 16 from the 2-3-4 tree above.

(35P)



